b -bs
BERST— K hAHE | MHE | BEEES *E*ﬁ“ll)lbij > 7K =
] *R i= H
Y XY =
cA AR BISIIIR | % RfE < AR —)LEFER ((M15-2)) (Rm#&= 086 ) "
= 7 = [ H BSZ A R 5% K
1:500 (iEE%FEmEXNo. 42) M
1|5
(5) :
F E X s=1:30
<
7o It ? 0)
‘ L, D2100 3. 09
o8¢ 16 /Osme/og 6 /Amu“-m!_ 6 448 o
/ +@) —-— -_- s i — g
W@) me® & 9 UL A
- ] - [e>)
/) ok FEE Tk i FEE § _________ . I S
/ / /7 // D 82-12 T 2 9@ 821 B SR A !
// VA / @ 8219 N +=— © 82-14 NH+=—
A ?é : @) 82-16 4 @ 82-13 EREEEE
WD 81-6 NIFHEE
o o o ()
g e 28g3g
| © S | N »
S\ ] 00 0 0 g
N _ L N
3
(9p]
350 | 2000 | 350
2700
B
V7|
B-BE ﬁ S=1:30
v/
A-AFE ﬁ S=1:30
o
2
S
[9p]
o ) S
g _7/ 3 x_ /\ 8 g T T T =
S 200) = 200 7 L -———_ ~
/ ~
//O \\ \\
/ f \ \
/| 1150 S
500 al = S
S s g ! 21gp™ \ ‘I
188 é NS —— [
g E 8 S S \ Z\ / /
i \\ 3 S \ /
S . 2100 Y jfjm
> N - ’
508 16.1313 S Ji6.313 2 -7 £ A
- . R P VA -
= ~ 2 L7
S - / I - — — -~ R #
=4 54
S &
F 3
| | A
S
— 350 2000 350
100 2700 100 100/ 200 769 | 562 | 769 200 100 —_
2900
! ‘ 100| | 350 2700 350 | |100 % A
3600 E Rk
JT
3
3
)=|
R—




MERST—F| X 4 8@ th 4 %8 N BREE S *H*ﬁ“l/)ll,ijz | 7k g = m]_EY
= 1\ ) p— — =
GA EELME | A L | BI-1-1IK 36 g~ > —)LEER (IM15-1 -2 ) (Xm&E=S 087) wer £ R
| (1D 1"
T B i S=1 SEmE ] s=1:30 1M5
\ 'S : | |
L o 350 2700 350
N | ] - |
| 2
eI , : Z
) : — 3 z
_ _Z\Q/j/ ) ;—L—p‘;; 4tj 1) 5
o [15-1] .., e \/’5 [/ 5\ [T5=T] 02100 1. 8% 77.506m § o - §
i(.’n— r—— - - - - - - — - — - -+ - - - - — - — — -ttt - — a4 -4+ - - - - - — — — — -
’;@_/(@—/ %@ — &7
S Tk & g PIEE =
LR M@ s2—1 e W) - P
4 =— @G 8219 I3 +=— = / o N
R o It g s — | g™ g - s g g8
D Bi-6 e EiEAET R IR J\@QX = 8§ g KO3
(7
NN,
> ~ _ —
950
[ N N - 01 — — — — — — 7 7 7 - - 1 - - - - - - - - - - = ON
N _ ! - N
o
o~
I el
- A =1
21000 21000
200 2600 200 200 2600 200
- _ ‘ <s§L:22. 586 <§gL:ZZ. 586 ‘ ‘ -
1 | T 1 7T
B Lo o Lo
~ ~
- = — =
> 2900 < > — 2900 <
:; —+ ) II: - JI
| | 3 I )
| | = | L |
2900 <
200
S — n |
S N
o ! o
< Y <
o I
= : L'
" g ”
M- < |:|
< S =
§ = FIRRRRRRYNNRRRIARD :: S <
™ o ™
N m
S / ' \ S < I 8
| ! =3 [
£ R
£ A
| o o
s 38 T 8 8 § S iR 0
S - —at - #- = B - 54
o~ N o o N N
Q ) 8 9 ) Q \ ﬂi
o \
S \ 3
. \ ﬁ
500 \\
=) ' S S =@
gV Vg 2 - 7=
g 3 &
o ~ ~ ]
S T
JT
S S &
100] | 350_ 2700 350_| |100 350 | 2100 ;
3600 3600
R—




MERO—F X5 % B o %

7 %A IN 5 %8 ZEHES ;H§1§§}Ilﬁﬁiﬁﬁthj*Qﬁgré?qﬁg
GA EELWR | A A E 142 IR 38 STAN R—ILEEME (IM5-1 -1 ) (MmEm3E = 088-1)

HiRA AFFR

-
=
—
—

Kt |
—. | Sl RRDREIED IS R
‘ gC\B BC\O90 ;{ ‘_To—a \ PN
jQL/ SPIg ‘C@%m — — —
02100 1.8% 10. 847m ﬁ

|-

CHIX S$=1:30
(4 —4)

- [MT5=1] -1
|

@RE. DD

— N

.
S-S M
. 2
| | (9p]
3
—— _ ™~
N
] — L
\ _____ ___o_ ____________ P— |
3
o -
&
A g s — — \gz Al
RS 2 5
) ) YIRS -
D D
Lo N
[9p) <t
Y :" |
\ 2900 o S
- EBRNSSY :
‘1 \ l o
| . | Lo
| | z =
o 2 | |
3 | | |
¥ ll \ ‘l
o |
= | | |
[ 1 5 Bk
‘1 \ ‘1 £ A
Li/// \\/\/z\\\\h_—////) HE*D
Tt 54
v3
350 650 350 2000 350 |250| 350 3
)=
1000 2700 600
4300 S EK
F A
T A
JT
3
3
)=
R—T




HRm | = Bm | R ©
=0 _ — Mﬁﬁ __WmME3H o= 4t _m_._xﬁ3ﬁ O
IR
S=
%._.E.T_._I
i
{4
yLGe 0GeY
{{
o% 0G¢ 009¢ 00v | |00l
P
3
2 SR Py
S
oL __]
Q
2
- N\ 1)
S
N 3 :
X S S g
— o
OOOO b T /] =
- X o
S [ [ 3
1| 2 S
_H_H_ ﬁ ; :
=}
_W_AE aa \/ \
I _
— B W\
B ®
.
— g -
— =
| a a 2
1
_
LO
1
—
n_._H_H 051 00612 051
¢ L X
‘
V“ 00812
1
o111
_\| e
=
n_l_.mwﬂ -~ yLGe 0SEY
_ 0G¢ 009¢ 001
L \
._A~|/I |_” ¥5022
— s/ 121 00812 [zl
— v — T
K < i
= X |
[I11 ._,\_m 0
|_¢ S 0S¥
/T\ /] 0057 ' |oo! = 5
NIt 1t o0t e | e i i
S
0 %
™
I
1 N DS A R A A
\1/ \
A
5 3 g
illy - g 2
<C
I _
i ™
<C
R
x| 2
| H <
SIS 3
L e
i
R s
B =
R
I <
e
4 051 00122
R|
H#u
K @ 00v22
g9 MY
"
_
T
RS
IX]
4
i<
11114
Bk = IR B = $240RY




